Plant Community Composition and Group Annual Production

Slough Sedge/Whitetop/
MLRA 53B ESD ID R053BY018ND - WET LAND Sloughgrass/Smartweed (HCPC)
COMMON/GROUP NAME | SYMBOL | Group Ibs./acre % Comp MLRA 53B ESD ID R053BY018ND - WET LAND
GRASSES 1 1200 - 2400 20 -40 HCPC Avg % Comp UPL FACU FAC FACW OBL
whitetop SCFE 1 900 - 1500 15 -25 whitetop 20 20
American sloughgrass BESY 1 300 - 600 5-10 American sloughgrass 7.5 7.5
mannagrass GLYCE 1 120 - 600 2-10 mannagrass 6 6
prairie cordgrass SPPE 1 0-180 0-3 prairie cordgrass 1.5 1.5
northern reedgrass CASTI3 1 0-180 0-3 northern reedgrass 1.5 1.5
reed canarygrass PHAR3 1 0-180 0-3 reed canarygrass 1.5 1.5
other perennial grasses 2GP 1 0-120 0-2
GRASS-LIKES 2 1500 - 2400 25 -40
American bulrush SCAM6 2 60 - 300 1-5 American bulrush 3 3
Baltic rush JUBA 2 0-120 0-2 Baltic rush 1 1
river bulrush SCFL11 2 60 - 300 1-5 river bulrush 3 3
slough sedge CAAT?2 2 900 - 2100 15 - 35 slough sedge 25 25
spikerush ELEOC 2 60 - 300 1-5 spikerush 3 3
woolly sedge CAPE42 2 120 - 420 2-7 woolly sedge 4.5 4.5
other grass-likes 2GL 2 60 - 600 1-10
FORBS 3 300 -1200 5 -20
arumleaf arrowhead SACU 3 0-120 0-2 arumleaf arrowhead 1 1
burreed SPARG 3 60 - 480 1-8 broadfruit burreed 4.5 4.5
buttercup RANUN 3 0-120 0-2
cattall TYLA 3 0-60 0-1 cattail 0.5 0.5
common waterparsnip SISU2 3 60 - 180 1-3 common waterparsnip 2 2
duckweed LEMNA 3 60 - 180 1-3 duckweed 2 2
northern water plantain ALTR7 3 60 - 420 1-7 northern water plantain 4 4
water smartweed POAMS 3 180 - 900 3-15 water smartweed 9 9
western dock RUAQ 3 0-120 0-2 western dock 1 1
other perennial forbs 2FP 3 0 - 300 0-5
Annual Production Ibs./acre LOW RV HIGH
GRASSES 2350 - 3300 -3750
GRASS-LIKES 1400 - 1950 -2500
FORBS 250- 750 -1250
TOTAL 4000 - 6000 -7500
This list of plants and their relative proportions are based on near normal years. Fluctuations in species composition and relative production sums 101.5 0 0 0 55 96

may change from year to year dependent upon precipitation or other climatic factors. RV = Representative Value.

Prevalence Index = (1X OBL #) + (2X FACW #) + (3X FAC #) + (4X FACU #) + (5X UPL #)/ Total #
Pl = 1.054187192
P.I. < 3 meets hydrophytic vegetation indicator test.



